a) Use each person’s method to find the area of the trapezium.

Area of a trapezium

Whitney's method Amir’'s method
0 The diagram shows two identical trapezia connected along / |
one edge. 22x25 = 5§50 -5 (33\,253 > Q2
12 %xQ2
) a b b y o S U3 =
: 2 X 635X
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i B 2 = bA
< 5 y Areas 699 m 3
b a
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A rea = 693m
Use the diagram to explain why the area of a trapezium is given by
the formula:
A= % (a + b)h

- H 7
T\r\Otx)\Ue, conmected ko moke o gas 3 Wl Orea b) Which method do you prefer?

(a+0) SO each brogeiium han areo % Ca v

o Find the area of the trapezia.

o Amir and Whitney are finding the area of this trapezium. a) 8 mm b)
d 38 m [ 6 cm
X > I_'A I10 mm 8 cm I
¢ » —
19 mm 5am
27 m 22 m

I split the trapezium into a
rectangle and a triangle.

area=| |35 |mm? area=| 55 |m?
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o These shapes have the same area.

%
47 m / ..
J Work out the missing lengths.
/ 4 km 1.2 cm
f < >
19 m N VN
—
28 m
4cm 12 cm
A 4 h 4
¢ » < >
8 cm 6 cm
cm

aread = m? areq = km?2

d) 16 cm D 184 mm , O
7
85 mm
15 cm 17 cm
—
24 cm 9cm
area = m?
area = cm? area = mm?
o In a trapezium, one parallel side is three times the length of the other. O
The area of the trapezium is 20 cm? b The perpendicular height is one quarter of the length of the longest
. . . < ) parallel side.
Find 3 possible pairs of values of 5
a and b. ' The perpendicular height is 1.2 m.
(A i Work out the area of the trapezium.
a= b= :
Hll
< »
a 2
a= b= area = m
a= b =
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